R

Be  Mevre — Lo\f/x(aoe—,

Aorro¥
—Frwmn n o man EF Izl_r;lj: |S.000 . % >SS v
0 <X <k ( -MP\ M,Lwr>:
IP[ 1 @ W ? \Inr(n o)

j
7 156

H) nggo SX ) ‘25?%] B % (253;\’;033'%.:300 - C«—P_ (—{58\052;8%,33 ﬂ—‘o>
BB e ) o (72 - Be)- 9 48 = 0 864n—

(5,64
(i~ §(60)- 0(6’6‘13—i L 0,9959 = 08602

cg]= 1 2.t \Vax(x\ <&

G)  PLoX = B
sy ec aPlosx® ek ]t

Vo) - £ ) (D)
E[Y ¢ cEX]

¢ cem) EXY - E :
Var &) ¢ ¢ LX) ( 3 z[_f_@l _ (@j L]:cmoé((—.,c)

;Zazecﬂm Joﬁé{’—l
p ¢ ke C=l o ¢ E[X] <=
IO c L 2|




® o) Uzt woie)

o PLX > 9] - (- R[Xe9¥] = (- PAZTe=

< Qf-1°°
2

(- PL2 =48] 4= G (45) = 4= [=F(x9)=

- § (1s)- o2

b) £=2 [F[fcwcs X < 1004'(—::) = % &
FEWZ’? x,.,.z , hesre f00]: /PL,_cZ: P _;_- _oar
-
2 | _
0L - BrY)- BRI 7 (5l)- 24
S0 AF(E) - L 0 FE) A T
9 %:(,36:, IC: ?,92’ o
£) p- PIX < 9¥]- 1-P[¥>9¥) = 4 -0,9332 = 0 %68
\{ ~ \’B(Qo) 0,0@682 ﬁ 20‘_5)
pLY<3) - 2- (Zfi\ [ooest)” (oissel -~ a1
o=

e8] - Plse s - PLRE e

N _ 9t 3\ . _ —’-2,065}
G e R e
U’VL—:i,aﬂ;

=




(@ X~ of'(5,2) n C”Sﬂ o
;) ”)[xécj*%<:> Pl A8 25 |- ©

b —

p\r/a,_f)
@j ([__g\' o 95 =) (;;S‘- = 4,68 =) 'I?:‘_}.?Iji
U= E : -

AL oxs ek |
] o r“'_ =~ 9% o/o(”) (’P [, 5y \/L 2 o
B PLsd < X <Sad) =z

y [ /¢ - __d_‘)— = 0497 :
1 g&-{f/:}/\ 3-'9}/,1 / » ; |
b gz o f @)oarr Lo

2

5\]/0(;7’72;7

.

fé—* OZ
@ Wy=a) pLiE> ) " i <4}
t\)u‘f{ \
2(\ f - C}/i\ 0,

0°- 4o

()\"\‘chu ) = YHo ‘M&ﬂ

\ 1-e a j o>
X o )

£ A *}X(% —{ B
X“E}(P(”«\ = f){ﬂ{o ("3L€0 0

X e € ’T/€g>=
jngU «(ﬂ PLGRA - ?ﬂ iy

Vg > ﬁ : ) ehe
f#} - 6%6’6’(7

9 __;) Sme= ':.9|<?J—‘)
Bd)-0e 4 <




